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[> wcep
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wccp: CONFIG:SG:0: type 0

wccp: CONFIG:SG:0: 80

wccp: CONFIG:0: [raptor]

wccp: CONFIG:0: GRE & L2

wccp: CONFIG:0:ret GRE & L2

wccp: CONFIG:0:TCP

wcep: CONFIG:0: 172.28.15.33

wcep: CONFIG:SG:0: Security enable <- 1
wccp: CONFIG:SG:0: Hash enable <- 1
wccp: CONFIG:SG:0: Mask enable <- 1
wccp: CONFIG:SG:0:
wcecp: CONFIG:SG:0: Hash/mask on client <- 0

wcep: INFO:WCCPv2: local IP is 10.251.0.73

wcep: INFO:Accepting WCCP messages on port 2048, FD 3 at 10.251.0.73.
wcep: INFO:0penning a socket set

WCCP 74 HE

Service direction <- 0

o O O O

wcecp: INFO:### Timestamp 100 ###
Ef AT = 2F4F 1000141 A|EFE/LICE. O] gi2 &= EFRIZ2 &IFgfL .

MH|A(sve) ElolE

wcep: STATE:SVC@Ox0x85bd000: index=0 type=0 ID=0
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ID: b2 ID #1350 - 255)

wccp: STATE: [MD5] [MH_UNDECIDED] [HASH_OK] [MASK_OK] [HASHING]
[L2FWD_OK] [GREFWD_OK] [LGR_UNDECIDED] [L2RET_OK]
[GRERET_OK] [RET_GRE] [DWC_UNKNOWN] [FWD] [ SERVER]

[MH_UNCONFIGURED] ZE T & BTE 0] 23A1 = O1X]X] Z& LIC(of & O OF X2 Z)).




[HASH_OK] &li&/0] & &L C}.

[MASK_OK] OtAZ/0] &{2&/L|Ct.

[HASHING] & &/0] AME{EI 8 812]L|C}.
[MASKING] OfAZI2 1845 8H{9]1 |}
[MH_DONE] ot A ZY/sif & g4t o| 2t 2 £|U& Lt

[L2FWD_%&2l] M cIC|3|MdE 28 L27F S ELICt.
[GREFWD_OK] & EIC|3|E 2/8F GRE} s{1&E/L|CT.

[LGR_UNCONFIGURED] &4 B2t 2IC|2Ad Ui S 2018t £ Qg LICHL2 O GRE).
[L2RET_%&f2l] BtEF EIC| 3 gt ol CHE L27F S{&ELICE.

[GRERET_OK] GRE B} 2|C|3|M 8te] 518

[RET_GRE] £+Z gtof Ci3t GREZ} M5 ElLICH

[LGR_DONE] GRE/L2 EH&t 8t $1At0| &2 £ LCt.

[DWC_UNKNOWN] &3 XIS & & ZHADWC)E & =+ & LICt.
[FWD] EIC|ZMH2 CHY ZEE 7|8t 2 &

[AH] SH&/OLAZ 2 HH FAE 7/8IS 2 B

[ECIOIHE] s &/0fAZE ECIOIHE =LA E Z7[Bt o 2 BfLCH.

[VIEW_CHANGED] A{H|£ B 7|7} #4759 LICH

wccp: STATE: needRA (=0)@0, ISYQO, viewchg=0, viewused=0, keychg=0
RA T2 ; v
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wccp: STATE: this period: (HIAs=0, ISYs=0) proto=6
O AT T0Z(E& &) 5O OIS =
HIA: X1 8t "HIA(Here | Am)" T{Z!
ISY: "I See You (ISY)" H{Z!S ot LICH
XZBM-0| MHIAZ EIC|E MGt | 5l Z2EZ2]L|C62 TCP

wccp: STATE: ports = 0, 0, 0, 0, 0, O, 0, O

EE:# INAWC)ZE EIC/HMEl= ZEQILIC. & FHAIE AISE I ZE= Hlo{ 2IX|et ZE 802 2|C/%
Lict.

Nexus G| 0|E

wcep: STATE: nexus@0x0x85bf000: rcvd_key(0.0.0.0,0) sent_key(0.0.0.0,0)
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wccp: STATE: rtr mention@(0, ISYRO rtr change#= 0 refs=0

rtr_mention:CI P ETVT OFATH S E AFRAI=E 1 of @ <timestamp>
ISY:0| MHH|A 32 & @<timestamp>(nexus EFRE{)9| O] I RE{0fA{ OFX|5tS 2 ISYE 2HAZi& LIt
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wccp: STATE: [FIXED] [DEAD] [FWD_?7?7?]
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[VIEW_VALID]: WCCP £14&t0| 2t2 £/910 0 WSA + BFRE{7} 7|50f 52

wccp: STATE: rstate=0, outst_ HIA-0, receiveID=0
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wcecp: STATE: rtr@0x0x85be000: £4(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33
Fir-OT nexus OT CHeF 2P E] B& - & U&F 22 ET0TA nexitoll CHel E ==
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wcecp: STATE: configaddr=172.28.15.33, ID addr=0.0.0.0, from addr=172.28.15.33
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wccp: STATE: WCEROx0x85b9020: (10.251.0.73) mentioned:111 weight:1 status:0
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wCep':
wCep':

INFO: ### Timestamp 100 #i##

STATE: SVC@0x0x85bd000: index=0 type=0 ID=0

STATE: [MD5] [MH_UNDECIDED] [HASH_OK] [MASK OK] [HASHING]
[L2FWD_OK] [GREFWD_OK] [LGR_UNDECIDED] [L2RET_OK]
[GRERET_OK] [RET_GRE] [DWC_UNKNOWN] [FWD] [ SERVER]

STATE: needRA (=0)@0, ISY@O, viewchg=0, viewused=0, keychg=0

STATE: this period: (HIAs=0, ISYs=0) proto=6

STATE : ports = 0, 0, 0, O, O, O, O, O

STATE: nexus@0x0x85bf000: rcvd_ key(0.0.0.0,0) sent_key(0.0.0.0,0)

STATE : rtr mention@0, ISYQO rtr_change#= 0 refs=0

STATE: [FIXED] [DEAD] [FWD_7?7?7?]

STATE: rstate=0, outst_HIA=0, receiveID=0

STATE: rtr@0x0x85be000: fd(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33
STATE: configaddr=172.28.15.33, ID_addr=0.0.0.0, from_addr=172.28.15.33

OtX MEE|X| At &LICH B2 E =7|8 of|o|E{ L|ct
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wcep':
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INFO: ### Timestamp 101 ###

STATE:SVCQ0x0x85bd000: index=0 type=0 ID=0

STATE: [MD5] [MH_UNDECIDED] [HASH_ OK] [MASK_ OK] [HASHING]
[L2FWD_OK] [GREFWD_OK] [LGR_UNDECIDED] [L2RET_OK]
[GRERET_OK] [RET_GRE] [DWC_UNKNOWN] [FWD] [ SERVER]

STATE: needRA (=0)@0, ISY@O, viewchg=0, viewused=0, keychg=0

STATE: this period: (HIAs=0, ISYs=0) proto=6

STATE : ports = 0, 0, 0, O, O, O, O, O

STATE: nexus@0x0x85bf000: rcvd_key(0.0.0.0,0) sent_key(0.0.0.0,0)

STATE : rtr_mention@0, ISY@O rtr_change#= 0 refs=0

STATE: [FIXED] [DEAD] [FWD_?7?7]

STATE : rstate=0, outst_HIA=0, receiveID=0

STATE: rtr@0x0x85be000: fd(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33
STATE : configaddr=172.28.15.33, ID_addr=0.0.0.0, from_addr=172.28.15.33

INFO:send_HIA called

INFO: ### Timestamp 101 ###

INFO:HIA sent to 172.28.15.33 -- 1 ISY(s) outstanding
INFO: ### Timestamp 101 ###

INFO:ISY received from 172.28.3.46. (708 bytes)
INFO:ISY: accepted
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wcep:
wcep':
wcep':

wcep':
wcep':
wcep':
wcep':
wcep':
wcep':
wcep':
wcep':

INFO: ### Timestamp 101 ###

STATE: SVCR0Ox0x85bd000: index=0 type=0 ID=0

STATE: [MD5] [MH_DONE] [HASH_OK] [MASK_OK] [MASKING] [L2FWD_OK]
[GREFWD_OK] [LGR_DONE] [L2RET_OK] [GRERET_OK] [RET_GRE]
[DWC_UNKNOWN] [VIEW_CHANGED] [FWD] [ SERVER]

STATE: needRA (=0)@0, ISY@101l, viewchg=1l, viewused=0, keychg=0
STATE: this period: (HIAs=1l, ISYs=1l) proto=6
STATE: ports = 0, 0, 0, 0, O, O, 0, O

STATE: WCQ@0x0x85b9160: (172.17.0.10) mentioned:101 weight:1 status:0
STATE: [ACTIVE]
STATE: WCQ@0x0x85b9140: (172.28.6.34) mentioned:101 weight:1 status:0
STATE: [ACTIVE]
STATE: nexus@0x0x85bf000: rcvd key(172.17.0.10,5) sent_key(0.0.0.0,0)




wcep':
wcep':

wcep':
wcep':
wcep':

ISY@101 rtr_change#= 23 refs=0

[FIXED] [ALIVE] [ACTIVE] [NEG_PEND] [FWD_???] [FWD_GRE]

STATE: rtr_mention@l101,
STATE :

[VIEW_VALID]
STATE: rstate=0, outst_HIA=0,
STATE: rtr@0x0x85be000: fd(3) gre-1,
STATE: configaddr=172.28.15.33,

receiveID=158

bind=10.251.0.73,

sentto=172.28.15.33

ID_addr=172

.28.15.33,

from_addr=172.28.15.33

LIH K| 27H2] € FHA|= ACTIVERZ Z2i27} R EL|ct.

172.17.0.10.Nexus &Ei= NEG_PEND, ReceivelD=158 L |C}.

81X DWCE Nexus2| rcvd_keyod|

wccp: INFO:### Timestamp 111 ##i#

wcep: STATE:SVCR0x0x85bd000: index=0 type=0 ID=0

wccp: STATE: [MD5] [MH_DONE] [HASH_OK] [MASK_OK] [MASKING] [L2FWD_OK]
[GREFWD_OK] [LGR_DONE] [L2RET_OK] [GRERET OK] [RET_GRE]
[DWC_UNKNOWN] [FWD] [ SERVER]

wccp: STATE: needRA(=1)@117, ISY@101l, viewchg=1l, viewused=0, keychg=0

wcep: STATE: this period: (HIAs=1, ISYs=1) proto=6

wcecp: STATE: ports = 0, 0, 0, 0O, O, O, O, O

wcep: STATE: WC@QOx0x85b9160: (172.17.0.10) mentioned:101 weight:1 status:0

wcecp: STATE: [ACTIVE]

wcep: STATE: WC@QOx0x85b9140: (172.28.6.34) mentioned:101 weight:1 status:0

wcecp: STATE: [ACTIVE]

wccp: STATE: nexus@0x0x85bf000: rcvd_key(172.17.0.10,5) sent_key(0.0.0.0,0)

wcecp: STATE: rtr_mention@l01l, ISYR101l rtr change#= 23 refs=0

wcecp: STATE: [FIXED] [ALIVE] [ACTIVE] [NEG_PEND] [FWD_?7??] [FWD_GRE]
[VIEW_VALID]

wcecp: STATE: rstate=0, outst_HIA=0, receiveID=158

wcep: STATE: rtr@0x0x85be000: f£d(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33

wccp: STATE: configaddr=172.28.15.33, ID_addr=172.28.15.33, from_addr=172.28.15.33

wcep: INFO:send_HIA called

wccp: INFO:### Timestamp 111 ##i#

wcep: INFO:HIA sent to 172.28.15.33 -- 1 ISY(s) outstanding

wccp: INFO:### Timestamp 111 ##i#

wcep: INFO:ISY received from 172.28.3.46. (1252 bytes)

wcep: INFO:ISY: accepted

MHIA 27|17 AR B2 2 needRA| Z2i27} X|HELICHRA @1170] 2 g

PE{ G HE = 23LCH 1110] CHE HIAE &5t 1110] CHE ISYE SARHS
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wcep: INFO:### Timestamp 111 ###

wcep: STATE:SVC@0x0x85bd000: index=0 type=0 ID=0

wccp: STATE: [MD5] [MH_DONE] [HASH_OK] [MASK_OK] [MASKING] [L2FWD_OK]
[GREFWD_OK] [LGR_DONE] [L2RET_OK] [GRERET_OK] [RET_GRE]
[DWC_UNKNOWN] [VIEW CHANGED] [FWD] [ SERVER]

wcecp: STATE: needRA (=1)@117, ISY@1lll, viewchg=2, viewused=0, keychg=0

wcecp: STATE: this period: (HIAs=1, ISYs=1) proto=6

wcep: STATE: ports = 0, 0, 0, O, O, O, O, O

wcecp: STATE: WC@QO0x0x85b9020: (10.251.0.73) mentioned:111 weight:1 status:0

wcecp: STATE: [ME] [ACTIVE]

wcecp: STATE: WC@QO0x0x85b9160: (172.17.0.10) mentioned:111 weight:1 status:0

wcecp: STATE: [ACTIVE]

wcecp: STATE: WC@QO0x0x85b9140: (172.28.6.34) mentioned:111 weight:1 status:0

wcecp: STATE: [ACTIVE]

wcecp: STATE: nexus@0x0x85bf000: rcvd_key(172.17.0.10,5) sent_key(0.0.0.0,0)

wcecp: STATE: rtr_mention@lll, ISY@1lll rtr_ change#= 24 refs=0

wcecp: STATE: [FIXED] [ALIVE] [ACTIVE] [FWD_GRE]




wccp: STATE: rstate=0, outst_HIA=0, receiveID=161
wcecp: STATE: rtr@0x0x85be000: f£d(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33
wccp: STATE: configaddr=172.28.15.33, ID_addr=172.28.15.33, from_addr=172.28.3.46

SIFCHAl A E| D 0o et J7F S7HELCHEIREE HE AT 2 &lstn HE HE E 57}
AlZigLIC.o|X| ol WSA7Ft ETE|T ACTIVER BH0|E0| X|HEIISE &holgr £ Ql&Lct.0
O] MH|A S| RE BFRE{7F WCo] CHsH 122 o|O|ghLct.

wccp: INFO:### Timestamp 117 ##i#

wcep: STATE:SVCR0x0x85bd000: index=0 type=0 ID=0

wccp: STATE: [MD5] [MH_DONE] [HASH_OK] [MASK_OK] [MASKING] [L2FWD_OK]
[GREFWD_OK] [LGR_DONE] [L2RET_OK] [GRERET_OK] [RET_GRE]
[DWC] [FWD] [ SERVER]

wccp: STATE: needRA (=1)@117, ISY@1lll, viewchg=2, viewused=0, keychg=0

wcep: STATE: this period: (HIAs=1, ISYs=1) proto=6

wcecp: STATE: ports = 0, 0, 0, 0O, O, O, O, O

wcep: STATE: WC@Ox0x85b9020: (10.251.0.73) mentioned:111 weight:1 status:0

wccp: STATE: [ME] [ACTIVE]

wcep: STATE: WC@Ox0x85b9160: (172.17.0.10) mentioned:111 weight:1 status:0

wccp: STATE: [ACTIVE]

wcep: STATE: WC@QOx0x85b9140: (172.28.6.34) mentioned:111 weight:1 status:0

wccp: STATE: [ACTIVE]

wccp: STATE: nexus@0x0x85bf000: rcvd_key(172.17.0.10,5) sent_key(0.0.0.0,0)
wcecp: STATE: rtr_mention@lll, ISY@R1l1ll rtr_change#= 24 refs=0

wccp: STATE: [FIXED] [ALIVE] [ACTIVE] [FWD_GRE]

wcecp: STATE: rstate=0, outst_HIA=0, receiveID=161

wcep: STATE: rtr@0x0x85be000: f£d(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33
wccp: STATE: configaddr=172.28.15.33, ID_addr=172.28.15.33, from_addr=172.28.3.46

wcep: INFO:send RA: called.

wcep: INFO:initial mask is 0x00000000

wcep: INFO:slots = 32 WCs = 3, mask = 0x00000526, inc = 0x2
wcep: INFO:slot 0,val 0x00000000, index - 0

wcep: INFO:slot 1,val 0x00000002, index - 1
wcep: INFO:slot 2,val 0x00000004, index - 2
wcep: INFO:slot 3,val 0x00000006, index - 0
wcep: INFO:slot 4,val 0x00000020, index - 1
wcep: INFO:slot 5,val 0x00000022, index - 2
wcep: INFO:slot 6,val 0x00000024, index - 0
wcep: INFO:slot 7,val 0x00000026, index - 1
wcep: INFO:slot 8,val 0x00000100, index - 2
wcep: INFO:slot 9,val 0x00000102, index - 0
wcep: INFO:slot 10,val 0x00000104, index - 1
wcep: INFO:slot 11,val 0x00000106, index - 2
wcep: INFO:slot 12,val 0x00000120, index - O
wcep: INFO:slot 13,val 0x00000122, index - 1
wcep: INFO:slot 14,val 0x00000124, index - 2
wcep: INFO:slot 15,val 0x00000126, index - 0
wcep: INFO:slot 16,val 0x00000400, index - 1
wcep: INFO:slot 17,val 0x00000402, index - 2
wcep: INFO:slot 18,val 0x00000404, index - 0
wcep: INFO:slot 19,val 0x00000406, index - 1
wcep: INFO:slot 20,val 0x00000420, index - 2
wcep: INFO:slot 21,val 0x00000422, index - 0
wcep: INFO:slot 22,val 0x00000424, index - 1
wcep: INFO:slot 23,val 0x00000426, index - 2
wcep: INFO:slot 24,val 0x00000500, index - O
wcep: INFO:slot 25,val 0x00000502, index - 1
wcep: INFO:slot 26,val 0x00000504, index - 2
wcep: INFO:slot 27,val 0x00000506, index - O
wcep: INFO:slot 28,val 0x00000520, index - 1
wcep: INFO:slot 29,val 0x00000522, index - 2




wcep':
wcep':
wcep:
wcep':

INFO:slot 30,val 0x00000524, index - 0
INFO:slot 31,val 0x00000526, index - 1
INFO: ### Timestamp 117 #i##

INFO:RA

(mask) sent to 172.28.15.33. (624 bytes)

Z0xod A
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weep:
wcep':
wcep':

wcep':
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wcep':
wcep':
wcep':
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wcep':
wcep':
wcep':
wcep':
wcep':
wcep':
wcep':
wcep':

INFO: ### Timestamp 121 #i##
STATE: SVC@0x0x85bd000: index=0 type=0 ID=0

STATE:

STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:
STATE:

[MD5] [MH_DONE] [HASH_OK] [MASK_OK] [MASKING] [L2FWD_OK]
[GREFWD_OK] [LGR_DONE] [L2RET_OK] [GRERET_OK] [RET_GRE]
[DWC] [FWD] [ SERVER]
needRA (=2)@127, ISy@lll, viewchg=2, viewused=2, keychg=1
this period: (HIAs=1, ISYs=1l) proto=6
ports = 0, 0, 0, O, O, O, O, O
WC@ROx0x85b9020: (10.251.0.73) mentioned:111 weight:1 status:0
[ME] [ACTIVE]
WCROx0x85b9160: (172.17.0.10) mentioned:111 weight:1 status:0
[ACTIVE]
WCROx0x85b9140: (172.28.6.34) mentioned:111 weight:1 status:0
[ACTIVE]
nexus@0x0x85bf000: rcvd_key(172.17.0.10,5) sent_key(10.251.0.73,1)
rtr_mention@lll, ISY@R11ll rtr_change#= 24 refs=0
[FIXED] [ALIVE] [ACTIVE] [FWD_GRE] [VIEW_VALID]
rstate=0, outst_HIA=0, receiveID=161
rtr@0x0x85be000: f£d(3) gre-1, bind=10.251.0.73, sentto=172.28.15.33
configaddr=172.28.15.33, ID_addr=172.28.15.33, from_addr=172.28.3.46

INFO:send_HIA called

O|M| 27|17t * & 5tH sent_keyOll A & &lofl et 17He| E|C|HME T2 B &LICH 0| A|-HoM=
2 E Zo| Mchz =S x|o{ok gfLct
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